Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

Ratio

1
TP min AR

m
o
=
Q.
©
>
o
<
<
)
a
=
—
=
=
Q
o
k)
=
=

0.5

, Jet

P
o 2
2 0a
»_ O

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15

0.05

[y

-1

Efficiency vs pu

0.5 T T
T

X S ———

efficiency vs PU
o
D
I

o
w
T

................................................

PSS U NS S
P TR e Ao e zas 1029 } +
0.15F------ A S A S

0.1:— ; ] : ;
5% SN NN S S Y -

L

Ratio

0.95
2

(=]
w
(@]
N
(@]
3]
(@]
[e2]
(@]
~
(@]

80
Pileup



	Contents
	Page 1


